Lab 4 Notes

CS 61BL Lab 4
Summer 2019 June 28, 2019

Name: SID:

Section Number: @ @

Write your name and login above. Please complete this worksheet during your lab,
and turn it in to your TA by the end of your section. You are encouraged to work
with your partners and neighbors collaboratively.

1 Fish and Salmon ( O P{‘\TBV\O\\ 3
\Pr

Look at Fish.java and Salmon.java. You'll see that each have constructors, and
that they are labeled as Constructors A, B, C, D, E.

Fill in the table below to indicate whether or not each combination compiles. Put
a 7Y” if that combination compiles, and "N” if that combination fails to compile.
The rows indicate which constructors should be included for that scenario from
Fish.java and the columns indicate which constructors should be included from
Salmon. java. You can check your answers by commenting out all other constructors.

None C D E

None y \/ y N/A
A \, \/ v N/A

NN Y
A and B y \/ \/ y

Choose a combination of constructors that compiles and comment the rest out.

Finally, in the main() method of Main. java, add lines A and B from the lab spec.

(a) What happens / what does IntelliJ tell you?
doey, b WG, Comhst be a})plﬁd’ f V¥ 744/)4

(b) Why do you think this is?

Lo 39 343\—%01(\[7 Mcdorfo( as af?_{ﬁ/
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(are all Fidn Salmons? ne)



2 Lab / Worksheet

Look at the swim functions provided in Fish. java and Salmon.java. Cross out any
lines that would cause a compile-time error. Remember that we examine the static

type at compile time.

// If any of these four lines don't compile,

// also cross out any line farther down that uses that instance.
Fish fish = new Fish();

Salmon salmon = new Salmon();

Fish bob = new Salmon();

Selmon—tuna—=—Trew—FIsit) SO\W‘M S \Abdusg of Fih

fish.swim(Q);
salmon.swim();
bob.swim();

turerswinO) -

fishswim(5); E\FK\'\ 0‘0@9 v\o\‘ \/\a\/e 6 SLUthn

salrf10n:swim;(5); t/ mff',\o(} ‘H/‘(ML {_n/ees‘ rl’) on
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Now, write next to each line what is printed by each method call. If in the previous
part you determined a line would not compile, you should ignore it here (you can

just cross it out again). Remember that we examine the dynamic type at runtime.

fish.swim(); 4P]0\S1'\
salmon.swim(); CP\‘fh 4}9)0514
bob.swim() ; 4 P\Kl\ 6{3’092\
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Lab J Worksheet 3
2 Identify Static Types

Consider this piece of code:

Point p;

What is the static type of p? (choose one)
b. Object

c. Can't tell.

Suppose you define the following method inside the ‘TracedPoint* class:

public static void printPoint(Point p) {
———

System.out.println(p);
}

Then you run the following code

TracedPoint tp = new TracedPoint(2, 3);
printPoint(tp);

What is the static type of the variable inside the method printPoint? (choose

one)
b. TracedPoint

c. Object

Assume that TracedPoint extends Point. Suppose you define the following method
inside the TracedPoint class:

public void printX(){
System.out.println(this.x);
3

What is the static type of this inside the method? (choose one)

a. Point . - = +
Hhis, mside TE = T

c. Can'’t tell

b Aot closs



4 Lab 4 Worksheet

3 P]aying with Puppers

Suppose we have the Dog and Corgi classes which are a defined below with a few

methods but no implementation shown. (modified from Spring '16, MT1)
public class Dog {

' QeSs ¢
public Dog(){ /* D1 %/ } 67'\'0\_\ Cauy g

public void bark(Dog d) {’/* Method A %/ }
} ——

public class Corgi extends Dog {
public Corgi(O{ /* C1 %/ }
public void bark(Corgi c) { /* Method B */ }
@0verride
public void bark(Dog d) { /* Method C */
public void play(Dog d) { /* Method D */ }
public void play(Corgi c) { /* Method E */ }

For the following main method, at each call to play or bark, tell us what happens
at runtime by selecting which method is run. Circle if there is a compiler error or

runtime error if they occur.

public static void main(String[] args

ey

coes ver

\3\0‘7()

cal|

P\‘erc(av

s Gup?

Dog d = new Corgi(); mpile-Error Runtlme Error @’\S\'YV‘ (,"(°r
Corgi ¢ = new Corgi(); Compile-Error  Runtime-Error
Dog d2 = new Dog(); Compile-Error  Runtime-Error C1 (D
Corgi c2 = new Dog(); ompile-Error > Runtime-Error C1 DI 1[*' v
Corgi ¢3 = (Corgi) new Dég(); Compile-Error :@ C1 DI 6‘/“?\ W WY6V\3
——————
d.play(d); ompile-Erro Runtime-Error A B C D E
d.play(c); ompile-Erro Runtime-Error A B C D E \ ( \
: : ) Covygi pl&y
c.play(d); Compile-Error  Runtime-Error A B C E ( q
c.play(c); Compile-Error  Runtime-Error A B C D ‘P\\"’}‘b 0(9 +\1))‘€
c.bark(d); Compile-Error Runtime-Error A B \C) D
(d) pi : © chynamic - C_ov’g\
c.bark(c); Compile-Error Runtime-Error A C D \J 'F
d.bark(d); Compile-Error Runtime-Error A B @ D E O(g ‘\"1'9(
d.bark(c); Compile-Error Runtime-Error A B @ D E QRQe ob“\/(-/
d.bark((int)c); Compile-Errop) Runtime-Error A B C D E
c.bark((Corgi)d2); Compile-Error éuntime-grrob A B C D E d9~ Y‘a— .
((Corgi)d).bark(c);Compile-Error Runtime-Error A C D E lS OA\""‘“ q(_ovgl
((Dog) c).bark(c); Compile-Error Runtime-Error A B @ D E S(AW"" H oS 015 l,rftﬂ
c.bark((Dog) c); Compile-Error Runtime-Error A B ‘C )D E



